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FHAAH AFZFIE (Personnel Management, PM) > B A/ TR £F2 (Human
Resource Management, HRM ) B3] =24 A H HiR % (Strategic Human Resource
Management, SHRM) 2 E/L@R T > SRBEAARENBOREZRE  FaRHA
2o (15%)

HRAITHERETNAR MR ITBEAF BB ESERHNEHE (Overall
Compensation System ) 7 #HHALEWRBESHEE - (15%)

. HERBERT ALY (AL HRARRORBE  RAAIE AR B K% 2 (Human
Natural Wisdom) AR 69 B FREEBLE?HBHU 7 FLR?BHAE? (10%)

THo# (Job Analysis) #h &2 A REARAXH > FRUEXHZL4BARNES
Bl A ?FHEZ - (10%)

21 (Performance Appraisal) $#245# % ¥ (Performance Management) * £
ZE BN ? MIEEE S EATPEER (Bias) ? 5HRHAZ o (10%)

HI R ER = E 0 ¥ /472 (Business Ethic) 3548 ' £ /R EH B2 - (10%)
FHR ot EH T D2 Ak (Effectiveness) ? RBEHRHFZ o (10%)

RRATF —BHEAZEZE . (10%)
(1) #Bs (Allowance) $28 4 (Premium)
(2) Wk (Inpatriate ) #1© 4% (Repatriate)

LR (10%)

(1) Burnout

(2) Sympathy Strike

(3) Lockout

(4) Collective Bargaining
(5) Incentive Plan
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" T. Bone Puckett, a corporate raider, has acquired a textile company and is contemplating the
future of one of its major plants, located in South Carolina. Three alternative decisions are being
considered: (1) expand the plant and produce lightweight, durable materials for possible sales
to the mulitary, a market with little foreign competition; (2) maintain the status quo at the plant,
continuing production of textile goods that are subject to heavy foreign competition; or (3) sell
the plant now. If one of the first two alternatives is chosen, the plant will still be sold at the end of
a year. The amount of profit that could be eamed by selling the plant in a year depends on foreign
market condifions, including the status of a trade embargo bill in Congress. The following payoff

table describes this decision situation:

State of Nature

Good Foreign Poor Foreign
Decision Competitive Conditions Competitive Conditions
Expand $ 800,000 $ 500,000
Maintain gtatus quo 1,300,000 —150,000
Sell now 320,000 320,000

A_ Determine the best decision by using the following decision criteria:

Maximax

Maximin

Minimax regret

Hurwicz (a = .3)

Equal likelihood

B. Assume that it is now possible to estimate a probability of .70 that good foreign competitive
conditions will exist and a probability of .30 that poor conditions will exist. Determine the
best decision by using expected value and expected opportunity loss.

Compute the expected value of perfect information.

Develop a decision tree, with expected values at the probability nodes.

T. Bone Puckett has hired a consulting firm to provide a report on future political and mar-
ket situations. The report will be positive (P) or negative (N), indicating either a good (g)
or poor {p) future foreign competitive situation. The conditional probability of each report
ocutcome, given each state of nature, is

RN

g N

P(Plg) = .70
P(N|g) = .30
P(P|p) = 20
P(N|p) = .80

Determine the posterior probabilities by using Bayes’ rule.
E. Perform a decision tree analysis by using the posterior probability obtained in (E).
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- Given the following AON network and activity time estimates, determine the expected project 409
completion time and variance, as well as the probability that the project will be completed in

28 days or less:

_——‘

Time Estimates (weeks)

Activity a m b
1 5 8 17
2 7 10 13
3 3 5 7
4 1 3 5
5 4 6 8
6 3 3 3
7 3 4 3
~ e
¥ - u 7
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T8 LA ¥ % 19 map(E BB E )

Z .00 .01 .02 .03 .04 .05 06 07 08
0.0 0000 0040 0080 0120 0160 0199 .0239 0279 0319
0.1 .0398 .0438 0478 0517 0557 0596 .0636 0675 0714
0.2 0793 .0832 0871 0910 .0948 0987 1026 1064 1103
0.3 A179 1217 1255 A293 1331 1368 1406 1443 .1480
0.4 1554 1391 1628 1664 1700 1736 1772 .1808 1844

0.5 1915 1950 1985 2019 2054 2088 2123 2157 2190
0.6 2257 .2291 2324 2357 2389 2422 2454 2486 2517
0.7 2580 2611 2642 2673 2704 2734 2764 2754 2823
0.8 2881 2910 2939 2967 2995 3023 .3051 3078 3106
0.9 3159 3186 3212 3238 3264 3289 3315 3340 3365
1.0 3413 3438 3461 3485 3508 3531 3554 3577 3599
1.1 3643 .3665 3686 3708 3729 3749 3770 3790 3810

- L2 3849 3869 3888 3907 3925 3944 3962 3980 3997
1.3 4032 4049 4066 4082 4099 4115 4131 4147 4162
14 4192 4207 4222 4236 4251 4265 4279 4292 A306
15 4332 4345 4357 4370 4382 4354 4406 4418 4429
1.6 44572 4463 4474 4484 4495 4505 4515 4525 4535
L7 4554 - 4564 4573 4582 4591 4599 4608 4616 4625
1.3 4641 4649 4656 4664 4671 4678 4686 4693 4699
1.9 4713 4719 4726 4732 4738 4744 4750 4756 4761

2.0 AT72 4778 4783 4788 4793 4798 4803 4808 4812
2.1 4821 4826 4830 4834 4838 4842 4846 4850 4854
22 4861 4864 4868 A871 4875 4878 4881 4884 A887
23 4893 A896 4898 4901 4904 4906 4909 4911 4913
24 4918 4920 4922 4925 4927 4929 4931 4932 4934
2.5 4938 4840 4541 4943 4945 4946 4948 4949 4651
2.6 4953 4955 4956 4957 4959 4960 4961 4962 4963
27 4965 4966 4967 4968 4969 4970 4971 4872 4973
2.8 4974 4975 4976 A977 4977 4978 A979 4979 4980
29 4981 4982 4982 .4983 4984 4984 4985 4985 4986
a0 4987 4987 4987 4988 4988 4989 4989 4989 4990
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. BMETHABES LFERE KA #F: (1) Online to Offline (15%) (2) Social networking
application (15%) (3) Digital Signature (20%)

. R E § F4(Big Data) T AL 69 8 F 2(25%) 7T 46 8 18 64 R R BRI(25%)
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— ~ BEBLAGAL0y » £3H405)
(—) % w2 43 (strategic groups)
(=) 45 48 M 3% ¥ 18 % (sustained competitive advantage)
(=) # % 4% X, (business model)
(v9) VRIOZ 4%

- RRERERERES w2 T ERBAEALIFOBRIB(AK
BARAETEARNERILRES X - (20%)

= ~ Mintzbergi2 % " AR BZ L ERRE TR R4 ) HATRMBER
RN R BB REERF o —EE 2k
(Schools) » B H ALK LB BIHE " RbdoTH &, 7 MK
FIRRNA LB E R R EqEEY ~ 2RAR ZBHFPSEEF R
B sk ? (404)
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— ~ fa735 4%, 3F ) A (agency problem)? 435 4% 32 sk 4 (agency costs)? & IRk A 7L T LA AR
RE LR R A BER? (15%)

= TR TR HCE T KA WD (15%)

=~ {41 55 4k (security market line)? #HE HBHTIHEFEX? BHATIHFLRA
AR EARMASTMZIN2? BT HRKITEH? (25%)

W ARRTEMERZT 0 2 RE R RRAIRF BT BATR b2 3 FRRRATH
HyHE 5347 (15%)

F o~ RN RBATMREE » BAT RS A TR R B A L2 (15%)

SN ATHEA R ARSIV EAN R AR LR G B F AL 7 (15%)
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HMBREENES DL E TR -

AR ERDNERUH  WHEEHEE!

ERDARBAABBIHEUR  RSRARE - ARBRROEBUMER - AEUL RS
ZBFATOHBIRTLT  ARELRAT  BBERAEREALSRLLEHHARTGHLAGRE
—RAGEI B UBRFREBOERNT ) FE-RABRY -

GFHZAMUTRE  RAAFEANG P RALIIFAE BT HELRAERAAWITE
MEER DAY GRAREET BERGTHTL  FRD D RNLBRAH TEM - R ARE T K
MR, > ERBRARE - RIAMERET  HREEEAETARSHS  HTLAFALBER
A BTG LAABBLREEEA -

B AR RAI AR BFRRES -

RBAGEEINGEFER > "AARZEL > FELACABIATELHYE  RBELAAZ
Ma o HHBEFEEHF AL RERENAAZIHER LA RE > RAELERNTH A - #HE%
FHEGAOEARTHRE ) - PR ATRMLAERAGHASH FREILRE - RRTEL S
ATHBARGBROFRRN EETHRANBEH  EHBORMHEERR LA EAHAES
FRFESAAL > FERBER D TR BB RBRETER RN T RRESE
BARABRRTERNAERRIEE AR RBEEHRE > 2R RLFREKES -

AR FERQVRSBRAATORLEHBRE - BERE THROERANEFTRESE, - =212
ROGBEMFREHE B TR TEQNIRERROERMOETHE  KREE - Z8 REFRA
BEATH  MAFLERDAHEEHRY  —BRFARBBRATSA  BE-FA BAZTR
AEEEBER - THERERDARABE  FRQIXH/ERE - HALEBUAERA

BHEGHLIBEHF SRR ARARAELERELABE > BIRSHBREYE LI LER D
o SHORSER MPLHEBE TREHS - ML BAERL DN TRISEEE |  ABL
BHAAPRRLNGRE > EHERNAIERBCELBENRET AR EFR/BURE > R
RETARM  BEUFEREELE - (REEUR B201749A 4 AHI02RENE)

L]

— > HRBANGUMEABRHAET  HOMAERHERDNEZEHENARAGOBE - (25%)

=~ FRE-BERIBS  ROWILBEF  TEHE THRBTERE - (15%)
BRI LG4 RAKEH T ol R KR ste) B R E T4 M2 (10%)

> RBLEGHER  CESBRBTLEB RS B ENRGEHEH? (25%)

W AR BRERY DDA E AR AN R EETBGARFT L — RERE BN IAL
ARAZWTED RARBERAP - 350
(1) 4RRE 5 & F BB A T R AR 47 ok 4 (whistle-blowing) 4T 57 3% B 4R 4972 4 (10%) -
) EFATELREEE? KRR IERGITHF B ETRFR? (15%)
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